! S.

‘ o a8 AP A Ag||cp, ‘
figure, if AB||CD, then find _5 fﬁml .

In the given
X+HY.
E
- B
A X A
g b C— 0
b -] B o
(A) 110° (B) 125° (A) 110 :D; 1250
(C) 60° (D) 100° (C) 60° g ;00 R B
9. Asum of money in 3 years becomes< 1344 and A @ wifdr 3 aui H 13443 e R N
in 7 years it becomes T 1536. What is the 3 78 1536 T8 W B | 98 A ‘ LRl
principal sum where simple rate of interest is STEl RO TSl &% FIRe @l ST 87
SR (B) 2 4000 ) Lo L ¥
1200
, [ (D) 1500%
(C) 22800 (D) 2 1500 (C) 2800% | '
10. The average age of 3 children of Arihant Singh ~ <*0-  3iREw g & 3 T=at @) aiRTd Iy 12 99 ®
is 12 years and ratio of their ages is 3:4:5. What 3R I ATG BT AU 3:4:5 B | IUD T
is the average age of the youngest and eldest B 3R WA g g B 3T Iy 4T e, |
child, if he had only three children? ufe Iud daer dF g A7 ST RS
(A) 12 (B) 21 (A) 12 (B) 21 e
(C) 9 (D) 8 ©9 (D) 8 .
1. |f ‘3’ is the area of an equilateralﬂtfiangle and M. gfe TH HETE ﬁ'ﬂ‘_ﬂ BT SFH ‘a’ T m L
‘b’ is its height, then the value th—zls- v B Al hlz i -
(A) L (B) 3 (A) 1
7 LI )L ®) v3 s e
(€)1 (D) 3 (€)1 ) 3 12 L
3 3 2=
12, Find the least number of six digits which is Jf B I® B 9% O ¥ B < = -
= ai”ﬁq ’
exactly divisible by 15, 21 and 28 - S 15, 21 3iR 283 t{f'f?l: Roroa
A) (B) 100340 (A) T s
(A) 100480 o 100480 (B) 100340 e
() 100270 (D) 100380 (©) 100270 D) 100380 5__% '
13 in what time ¥ 1200 will become Y1344 atthe 13 fsmy g 3 1900 % 6% T o 8
rate of 6% annual simple interest? Bl ew 13447 & i N T T
(A) 3 years (B) 2 years (A) 3 7 (B)I i "
(€) 21vears (D) 32years (C) 2L a9 s '.g.t
2 2 2 (D) -3 £mi \'yé' y \:El
————— _______————-——__'__—__'_‘-—'___—_-—_—__‘___-_---‘_ - B -
190 o Wi - Page 3 qj 15m1‘5ﬂ———ﬁ_ﬁ__ﬁ_ﬂhz < ,{‘L . -1__@\
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lan ‘g"ihac, if ZA - 4B = 15° and
S¥R0°, then ZA is equal to - - E

(B) 65°,

_ (D) go°

ain 100 mlong passes a bridge at the rate

g
A

11 bridgeis -
© (A) 150 metres
(C) 400 metres

(B) 300 metres
(D) 200 metres

n (x2

+ %) |s -'equal to-

old at a price which was
% O i ]

‘than the price at which the first was
ertotal profit earned on both the

of 72 km/h in 25 seconds. The length of the

o Brpe ABC H AR LA - 4B = 17 W
/B-/C=30°2, T LA TR & —
(A) 75° (B) 65°
@8 (D) 80°
2 400 Hewd v 3 72 R/ AR
' w‘gﬂaﬁzsﬁﬁﬁqﬂ?{ﬂ’ﬁ%'ﬁﬁ
GEI

(A) 150 #rexX (B) 300 #e¥
(C) 400 #rex (D) 200 Hex
B afy (x+3) =28 7 (x2 + ) TR R -
(A) 2 (B) 5
(C) 4 (D) 6

4. e @ BT W Gl AEES B WS Y| U
&7 30% @ AT TR = AT AR TR DI A
Haed @ fAFg o | 2500 IHH UR a4
77| fy SR AT B R AR qger e

5% ofT, @l U@ AAge BIF 1 AW G al

ones was 5%, what was the cost price onf?
of one mobile phone?
(A) T 6000 (B) ¥ 5000 (A) 60003 (B) 5000%
(C) T 8000 (D) T 4500 (C) 8000% (D) 4500%
1
If 37 =% of a number is 45, then 87;% ofthe “> afy Rl | w7 3719 458 Y §w= Bl
number will be - it ’
A 87-% &I —
145 (B) 115 @A) _%
(C) 105 (D) 135 ©) 1;5 (B) 115 E
. 5 D
6. Rajeev earns 3/2 times in January, April, July 5 N TS e (D) 135 ‘
and October than his average earning of Z 600 T T8 @ 'Gﬂ?‘fﬁraa?{qalg 3R qFCAR H
Perl month in the rest of the months. So his 3/2 T A & 600 X Wi w&ar @
sawngs.in January, April, July and October goes AR & | S ST, 3, GG
toslfd times than that of rest of the months, i.e 400 T ufy W EEGECE B WO @ Tud
saving of Y400 per month, The average HEHAT e T o4 TR |
expenditure per month is - 9T 5
A
(‘c)’ : 22552-66 ((s; ?433.33 (A) 266.66 3 (B) 433337
%2333 '
% 15 persom st e faln 3 | (C) 250% (D) 233.33%
reap /5" field in 6 days, Howmany % 16af Rt 3 1/cqi @ :
persons (with same efficiency) are required to PN /591 @a @1 <o € 8 fas)
reap rest of the field in 8 days? @ fore farer afima (¥
(A) 54 (B) 27 im%m)a%mmwmmﬁﬁ?
(C) 64 (D) 48 :c: 22 (B) 27
e - (D) a8
___-___'_‘—-———__
130-C O —
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%% o YT
Mo N b 2
FIOCA 28 A7 e

4 v . vl *h % i
:__1‘, R e ;\

e )
-5::T§I.h%§§ﬂ? between two numbers is 7:11 and LAY ) vl B e 7:11% 3R ST e

el LCM is 154, The first number s - QA 154 | el WEAT § —
- (A3 (B) 7 (A) 32 AB) 7

< P St A

. Ona ®) 22 © 14 il
157&1!;'1}5‘“3 given figure, O is the centre of the circle. A5 & g agpfa 1 0 gT B T £CBD T
. Find.Zcep. | i
SR

-
e 15T

o 4
R o B o » 1
(A) 130° (B) 140° (A) 130 (B) 140 =
0 (C) a0° (D) 50°
A A e P ¥ @ R S A WA AT (5)
/ 46.  Which of the following pairs have the same SI L . THIME. (
Vi units? gprI=Al & B) aile
(A) Momentum and  (B) Force and distance (A) T1fey 3R 9 (B) 91 EAll
force . (C) 9a1 3R &am@ (D) &1 3R oIl
(C) Force and pressure (B) Work and energ | . ]
17.  The dimensions of coefficient of friction are - T Tonie @t A E -
(A) LT (B) LT (A) LT? (B) LT?
(C) Dimensionless (D) MLT?? (C) famré= (D) MLT?
18. Which of the following pair (Disease- freferRag 3§ A B A A (FFT—FH) T
{4 '

Deficiency) is incorrect?

(A) Pernicious anaemia — Vitamin Byz

(B) Marasmus — Protein and Carbohydrate
(C) Pellagra — Vitamin B
(D) Hypokalemia — Calcium
18. Spherical forms of rain drops is due to -
(A) Gravitational force (B) Surface tension

(A) TTa® YeRTeTdl — faeTiE 4l '
(B) IRTETH — WIS iR HHEEEse Eﬂ_,.-i
(C)m*ﬁﬂﬁq#[a -
(D) greurb iR — dfeer™

Tui @ g&i BT WA B B BRI & —

(A) @YYl ae (B) g T

3032;’31 5% 1 30327%’1 51 % 1303278151 1303273151

(C) Density of water (D) Air pressure (C) 9I&T &1 U=icd (D) gReTE
20. Red colour in tomato is due to - THIER ¥ ole 1 fhae SR Ean &7
(A) Lycopene’ (B) Capsaicin (A) Srgpd (B) stz ;
(C) Anthocyanin (D) Xanthophyll (C) vararsfe (D) Sidifthet
21.  The velocity of sound in moist air is more than F&L— T g1 ¥ @y 1 a0 YDH 'G Dl A ¥
in dry air because the moist air has - fF Brar &, Fifs W g1 A B § —
(A) more pressure than dry air. (A) I[<F &1 BT o A AWE T |
(B) more density than dry air. (B) I[&F &&T 1 el 4 HE® T |
(C) less pressure than dry air. (C) [ &l B gl FI &H A |
(D) less density than dry air. (D) 3=s &4l Bl qoien # P T |
N B ) o
e Page 4 of 16
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Intensity of |; ' %
source in ternlwgshtf WRElsES by oh unknown i
) Ot a standard source?
Ammeter (B)
(©) cat Dynamometer
) Calipers (D) 0
B Whidh Photometer o
ic 'Statem?nt(s) Is /are correct regarding\o—') 23
Dalton's Atomic Theory? I~
(1) All matters :are made of very tiny particles. %
(1) Atoms of different elements have differentt
masses and chemical properties.
(W) The relative number of atoms is variable in
any compound.
(A) Only (fyand (1) (BY A1), (N and () (o
(C) Only (It) and (1)) (D) Only (1) and (111) 2:;3
24. \When a gas is heated at constant pressure - [~ 2
(A) its temperature will increase (("-.\é
(B) Its pressure will increase %

(C) Both temperature and volume will increase _~
(D) Neither pressure nor temperature will

increase .
25. Element having maximum electron affinity is - Lo 2>
" (A) Lead (B) Lithium T
(C) Caesium (D) plutonium [~
(Y
26. Which of the following is an example ofc) %5
colloidal solution of liquid in solid? =
(A) Rubber (B) Cheese ~
(C) Milk (D) Shaving cream

S
27. Which one of the following phenomena cannott(aA'-

be attributed to the refraction of light? :-:)

(A) Redshift (B) Rainbow o
(C) Twinkling of stars (D) Mirage A
2k O
28.  calorific value is in the order of - oy

(A) Carbohydrates > Fats > Proteins
(B) Fats > Carbohydrates > Proteins
(C) Fats > Proteins > Carbohydrates
(D) proteins > Carbohydrates > Fats

Full form of ‘SONAR’ is -
(A) Sound Navigation in Aircraft Range
(B) Sound Navigation And Ranging

29.

(C) System in Navy And in Receivers

) ryerem of Navigation And Research

Dano B »l 4.

el AT S T Sed=T WhTel @ s
1 ANE Ga & w9 ¥ A9 @ forg fdw
JUE BT IYLE fbar e 87

(A) THIEY (B) SII-TFIIIEY

(C) Dferud (D) WIERIER

Sre & e Rigid & Gau d S a1/
HUT TR T /87 o .

(1) w0 verf 9gd B @ T B Bl
() fAf Al @ TRl § gaE SR
ot o f=- e 8 _
(1) foreit +i i § vl &) wer i

yftadreie &l § |
(A) @aa ()3 () (B) wfi(), (11 3R (1)
(C) e (1) 3R () (D) waet (1) 3R (1)
ara o T @ Rer gm w® T far S
B
(A) SH] IO 9 I
(B) TH® SATd TG ST
(C) T AR rIeH |F1 | gfE el
(D) 5 1 TaTd 3R 71 & awE # gfg wrft
aiftremem goidg i e aren o & —

(A) T (B) frfram
(C) < (D) IR

ffafRad # | ST g9 @1 SN ¥ Bieiiga)

fsas &1 SeTEver 87

(A) 33 (B) =y

(©) gu (D) ifdr w5

fFrfeiRaa A 9 fva e ®1 e & e

@ forv RmeRr 98 sexman S adar 8?7

(A) @t firge (B) geuu

(C) fami & (D) *rqem
SRS

Tl AE & HH H B -

(A) wraEESe > 991 > HIEH

(B) a1 > wrdiEESe > WM -

©) aar > 9= > a%ﬁﬁ?@@t

D) W& > FrafeEse > a4

AR &7 qof w0 & -

(A) AN AfQmyE g4 SHI9E Vo

B) wr9s Afwrem v W

©) foreen g9 o ©@ 39 Refiaw

©) Rreem sitw Afrrem v R




0. _ 30. Sﬁgﬁﬁmwf?m%ﬁm%ﬁﬁmﬁﬁﬁ
== 'In which part of the eye lies the pigment that =2 il @ 31 PeiRe e 27
decides the colour of the eyes of a person? (A) AT (B) BRize
(A) Cornea (B) Choroid (€) TSR (D) fagw afS
(C) Iris (D) Vitreous body 31, f frer A S 2022 % UH fade w@wey
31, Which district has launched a special health arel ST SfiEel’ g% faa {4
care campaign 'Aanchal' in June 20227 (A) 3TSTHR (B) YR
(A) Ajmer (B) Dungarpur (C) wRIel (D) SETQR
(C) Karauli (D) Jodhpur 32, ®wd 2022 W, WORIA @ fba wEE [

Hic0siS . _ < 5
32. Which Ministry of Rajasthan launched silic ﬁ?ﬁwﬁﬁﬂ didel 2022 BT FARH fapar
Portal 2022 in May 20227 (A) ey JATAd
(A) Ministry of Health (B) 3 i afte :

(B) Ministry .of Disaster i i
< (C) qgfeRul 3R Sierdry URacd+ Hared

Management and

Relief . nge
W .0 ment & Climateé chang
() Mty Ot Ere ar  Justice 870 (D) T =aTg e SHfermTRen e
(D) Ministry  of  S0¢ : _
Empm?rermen;  cotlot inaugurated the 33 e s e A SR A NI 1Y
33 Chief Minister ASTO% ® - o sports and Wi wied ts ReRfRIE R @
Rajasthan High Pe:_*foffﬁ % Igure far —
Rehabilitation Centre in daipur @ ' HaTe HHGe wfeaq d
: i dium (A)
(A) Sawai Mansingh 5ta = e E::E
(B) Railway Cricket Ground ) {B) Qﬁia |a_5?-'|53 JIISEC] ﬁ . , -
(C) Rajasthan University Stadium i (C) TS Jj TaRic] :?I_E &
(D) Vidyadhar Nagar Stadium (D) faemR TR wfegq |
34. What is the place of Udaipur in the ranking of 3% 3iiiel 2022 %, W 100 e Ry #1 b7 °
100 smart cities released in April 20227 : SRR P DIF |1 RIH Fer 87
(A) Second (B) Fourth (A) ¥ (B) =rerm
(C) Third (D) First (©) =T (D) ggelr
35 Who is the Industries Minister in Rajasthan at 35 ac#e # VroRe™ # SET 730 B &7
present?
(f:)) Bhajan Lal Jatav  (B) Shakuntala Rawat (A) ¥ wret wired (B) g Rrad
Vi i -
ishvendra Singh (D) ;Dvmd Ram ©) fisic Rig Dty
eghwal :
6.
V‘f“'f’ TS awarded by RB.I. for writing books 36 AR, 1. 3. gRT ke /AT /i TR
(o] | i i " 5 5 N ) J
originally in Hindi on economics/ banking/ R 7@ WY ¥ ) 3 fran fores & fow ey -
financial issues? T Fy 5 v
(A) Rajendra Chahar and Dr. Raj . :
" Rajeev Sainj (A) o TR 3R f. I
(B) Professor Renu Jatana and py Sagaf . sr s _
Saawariya (B) YIH¥R Y] Sfe™l IR Si. ArR Ai|ikan
(C) Manju Kumari and Dr. Radhika Baja; (C) HY], FART 3R €. BT goiret

{D) Shrishti Deshmukh and ShrUti Slhag (D} ‘qﬁz égpj’@ sﬁ? a’% ﬁ{gr]]' :.:l_;



L o

At which place in Rajasthan
2022' was Organized on th
and coastal Security?
(A) Baran '

(B) sri
(C) Bikaner . ongapegar

(D) Jodhpur

In which district 'Miyan Ka Bada' railway station
has been renamed as Mahesh Nagar Halt?

!o

(A) Barmer (B) Jaipur
(C) Bikaner (D) Jodhpur
9. Which scheme has been launched by the
Rajasthan Government to provide financial,
nutritional and educational support to TB
patients?
(A) Nishulk Nirogi Rajasthan Yojana
(B) 'Rajashtha'n Government Health Scheme
(C) Rajasthan Nikshay Sambal Yojana
(D) Chiranjeevi Health Insurance Scheme
40. ' in which city was the Medifest 2022 exhibition
organized?-
(A) Kota (B) Jaipur
(C) Bundi (D) Jaisalmer
a1. Who was the ruler of Sirohi at the time of the
Battle of Dattani?
(A) Maharao Surtan  (B) Amar Singh Rathod
(C) Rao Karan Singh  (P) Maharav Vijay
Singh
42. \Who was the Maharao of Kota at the time of

ty with the British in December, 1817?
ishor Singh (B) Ummed Singh |
Ram Singh | (D) Ram Singh II-

he festival of Gangaur is celebrated on which
date?

(A) Posha Shukla (B) Chaitra Shukla
Tritiya Tritiya

(C) Falgun Shukla (D) Magha Shukla
Tritiya Tritiya

L. As per administrative report 2020-21 of the

forest department the total forest area in
Rajasthan is -
(A) 32,737 square kms E_A‘E‘f
(B) 31,845 square kms :
(C) 32,200 square kms
D) 32,863 square kms

‘Suraksha Manthan 37
€ aspects of horder

YISl # T v gv W SR acr R
& Ul TR GRE W 2022° BT SR

. fopar mar?
(A) T " (B) MR
(C) dieTR (D) STIgR
38, e Rrer ¥ Rera vt &7 arer Yerd WA
(A) aTeiR (B) STAgR
(C) TR (D) iTeTgR
39. WHR R QA Al &1 Ay,

RTSTRRIT

drqur 3R TR FERAT U5 &< B g B
) o I F T R
(A,Wﬁﬂﬁmﬁuﬁw

(B) YR ARER IR AT

(C) Trorer Rer ¥l Al

(D) RSNl WRea W dreET

40. AR 2022 weIH @ smeE fa wER A

foparr T1ar?
(A) BIET (B) STOR

‘ (C) g& (D) SRR

4. g @ gg B W RRE @ e
QJT.._ ) .
(A) TERT SRl (B) arR RiE wEte
(C) via ovvr Rie (D) wewma fasraRie

02. fRxpr 1817 A ofiS @ WM W B T
Pl D ARG B A7

(A) freir Rig (B)Gﬁ&’ﬁi@'l
(C) ¥fE | () IFIRE
g3 gvrrﬁ? F1 er frg ffr @ wEwEr S
?
(A) Wy gl e (B) &= el il
(€) e gaw v (©) I A T

BA. g R 98 et RATE 2020-217% FTER

TSI T Gel 9 &7 & —

(A) 32,737 @ &AL,
(B) 31,845 a7 foh #.
(C) 33,340 @t f& AL
(D) 32,863 @i fd Al




45,

46.

47.

48,

=2}

49.

51.

52.

50.

v——_

Which of
MGVEmEnt L
(A) Bijolia —

the following pairs (Peasant
aders) is not correctly matched?

(B) Bunt. I3y Singh Pathik
(C) "di - Nayanuram Sharma
Meo ~ Yaseen Khan

D
fr ) Begun -"ﬂagharam Vaid

he place KoM village js associated with which
folk deity? N
(A) TallinatR

(B) Devnarayana ji
(©) Pabuji o

(D) Ramdeo ji
In which Battle did Maharana Sanga defeat
Babur’s army?

(A) Battle ofGhaghara (B) Battle of Panipat- |

(C) Battle hanwa (D) Battle of Bayana

For the heﬁbf which of the following states
Karauli sen !; army during 1857 revolt?

(A) Jodhpur= (B) Jaipur
(C) Kota (D) Mewar
Which one of the following (Ruler

contemporary to Alauddin Khilji - Place) is not
matched coffectly?

(A) Jodhpur=Veeram Dev

(B) Ranthaqrc;t.i'hore — Hammir Dev Chouhan
(C) Siwana %hital Dev

(D) Chittoré%h - Rawal Ratna Singh

Which one of'the following (Cement industry-
Place) is not correctly matched?

(A) Mangalér-ri Cement — Morak

(B) Birla Wh(_:[e Cement — Gotan

(C) Shree Cement — Beawar

(D) 1.K. Cem%rrlt — Nimbahera

Where is N%uRam Poddar’s Haveli located in
Shekhawati?™
(A) Bissau
(C) Nawalgarh
In how many phases was the integration of

(B) Mahansar
(D) Mandawa

Rajasthan done?
(A) Six
(C) Five

(B) Seven
(D) Four

e—

H-

ﬁmﬁﬁmnﬁmw(mmm
) e el 87

(A)mm%m fasra Rig ufds

(B) Tz 7w

(C) Fg—arA i

(D) T—TERM de

e T fha die <aar @ wdfa 22

(A) oo S (B) QRIS
(C) Trgeh (D) T it
TerRwn | A & g A aER @ I @
BYET?

(A) ameRT @1 oferg (B) ureiud -1 & e
(C) @™ar @1 wisrg (D) 9T &) ISR
FRIAT I 7 1857 D [Agie & SR fa
& HETIAT T AT JAT FWoA1?

(A) SiEgR
(C) PreT

(A) foars;

(B) wewae
(C) TaerTg (D) wogray
ISR 7 vasiavor e avvif 4 &7
Nz (B) W
(C) dra (D) TR



1

{3 ot o 5452 IR
Rataart deryllium oy 2
(alaSthan“.,afe' UM producing districts in . 5
A e T AT in A3 : . )
(B)) JBO‘dEpur and Na‘IgE.\UI' i j : g—ﬁf@fﬁ H ﬁlil%mq @ 79 Iqred o
G Dal'an and Karaul s (A) FEIR 3R AR
O) 1 ond Sawai Madhopur o
0 o e AR Yir 10 e it g g
+ ‘Munchala Mahavir’ Temple 1B} SrIgR &ft I
- : ‘Temple - , :
(A) Menal e (BP),:_: d;igcated at - 54. e qER ARG Rerd & -
_ A ra :
(C) Ghanerao .~ (D) Kiradu (A) e (B) TSt
5. “raug thé' : “__ St iradu (C) TR . (D) favrg
; e - following: statement about ‘Vij 55 ; i are FUA Bl
SR iy fjay 55 ﬁlTrT?J_W @ an # .Glﬂmﬁ ﬁ
(‘1) Itis a nine story tower. : (i) g = wen el 2
(ii) Mandan was its main architect. ' (if) TS ST T ARIPR AT o
Choose the correct code- ~ ° @ @me I~ : 8
(A) .Only,(‘i_)_ig"t_rUEf i 35 E:;E (A) W ('W@ g C:J-
(©) Neither (i) nor (i) istrue, - © = @ 07 ;é,f"l -
. (D) Both the statements are true & .aw (w'az% mim‘cﬁ T -
56, \Who laid the foundation of Chittorgarh fort? Lol i 350 Wmam -
D Tl 474 5 (B) S i Jai Singh (A) RETTS (B) &
7 (A) Chitrangada Mori, & awai Jai SIng ¢) weRToT AR (D) S e ™
/ "'(C) Maharéi-'a"ﬂéi Singt (D) Jayant Chauhan ( ) b«. Sl . PC‘:I
57. o e pi gfes-made"i}i"PiChwai' artefacts refer 57 ﬁf‘m ai'?”‘liﬁ[m T o= Sgd e Wg
i 3 ». [ l ("' . ==
¥ 5 a-'f_:_ et B - g ™
1(A) the life of Lord Shiva () et R & S ~
# 11 1(@) the life of Lord Ram (B) sprar I & ST 9
(C) the life of Pandavas (C) wiedl @ iilﬂ\[ q Tu:)
(D) the life of Lord Krishna (D) 7T T @ St 9 T
In which of the following forts is the tomb of 9% ﬁfﬁ <ia fg e A e e H ¥ fod g‘fttc:)_
sufi Saint Mitthe Shah situated? = A Rera 22 ol
(A) Gagron (B) Chittorgarh (A) PRI (B) farciteTe ch
(C) Nahargarh ~ (D) Kumbhalgarh (C) FTExTG | (D) B¥elTe ap)
9. Read the following statements — 59. fwferfrd HeEl B el — b
(i) Viratnagar previously known as Bairath is a (i) farreTTR 1 Ugal dXI6 @ AW g
town in Jodhpur. ST 2, STRgR &1 U WAeX gl
(ii) Bairath was a part of Mauryan Empire. (ii) aTe, Wil AHed @1 fesr o | .
Choose the correct code - & e gHg — tf—-)-
(A) Only (i) is true (A) Bt (i) T & &0
(B) Only (ii) is true (B) @ (ii) Hel 2 ™
(C) Neither (i) nor (i) is true (©) = @ (i) & (i) 9 & &
(D) Both the statements are true (D) ST HUF WEl € %
60. where was the ‘Desh Hiteshini Sabha’ 60. TS YR B sewn ¥ 3w AR wn S
established for the purpose of social reform? I el @1 g Ul
(A) Ajmer (B) Jaipur (A) 3T (B) TRITR

(C) Shahpura (D) Udaipur (C) ¥EYRI (D) ITUR



K‘;lgh of the fc:llowing pairs is incorrect?
aadla - Jaipur (B) Namda - Jodhpur
(€) Masuriya Saree~ (D) Marble carving -
Kota Tonk
In which of the following districts the sub
humid climate is found in Rajasthan?
(A) Udaipur, Rajsamand, Pratapgarh,
Chittorgarh _
(B) Ganganagar, Hanumangarh, Sikar, Churu
(C) Kota, Baran, Bundi, Jhalawar
(D) Jaipur, Ajmer, Alwar, Tonk
What was 'Daamani' in Marwar?
(A) A type of Jewellery (B) A revenue tax
(C) A type of Odhani (D) A Government
policy

5'2-

63.

64. Match the following -
(a) Chari Dance |
(b) Ranbaja Dance
(c) Shankaria Dance  (3) Gujjar
(d) Chakri Dance (4) Kanjar
Choose the correct code -
(A) (a)-(3), (b)—(2), (c}(1), (d)-(4)
(B) (a)-(4), (b)-(2), (c)-(1), (d)-(3)
(C) (a)-(2), (b)~(3), (c)-(1), (d)-{4)
(D) (a)-(1), (b)~(2), (c}~(3), (d)-(4)
Where is the Som Kagdar Irrigation Project
located in Rajasthan?

(A) Bundi (B) Kota

(C) Sirohi (D) udaipur

Which of the following Chhatri is not located in
Jodhpur?
(A) 8 Pillar Chhatri
(C) Jaswant Thada

(1) Kalbelia
(2) Mev

5.

(B) Mandore ki Chhatri
(D) Mama Bhanja ki
Chhatri

67. Where was the Bhawani

established in 1921 AD?
(A) Ajmer (B) Jaisalmer
(C) Jaipur (D) Jhalawar
68. On 30" March 1949, greater Rajasthan was
inaugurated by -
(A) V.P. Menon

Natyashala

(B) Sardar Vallabh Bhai
Patel

(C) Jawahar lal Nehru (D) N.V. Gadgil

T 57 - e

B3, [Rars § SOl ar o Y

(A) TF TPR Bl (B) U IRT &
AT
(C) @izl BT U FHR (D) Th Wb
64. <ferd BT —
J (a) T T (1) Sredferdr
(b) TS T (2) AE
(c) THRAT A (3) TER
(d) Td<t JI (4) PR
a8 He g -

ST 1921, 3 wgrhy AreTeen wel et B
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(A) areell — SR (B) FHEl — o
(©) wgfan I — (D) HIERR 9
PIel TFHIN — i
62. fpeferfera # W ISR & 5 R |

arre orerdiyg TR STl 87
(A) Seaq, o, wadTs, fdeTe
(B) TR, BTG, WHR, TH

(C) el AN, X1, SIATATS

-

(D) AR, 3T, IR, i

(A) (a)~(3), (b)=(2), (c}-(1), (d)~(4)
(B) (a)-{4), (b)-(2), (c)}-(1), (d}-(3)
(C) (a)-(2), (b)=(3), (c){1), (d)-(4)
(D) (a)-{1), (b)—(2), (c}=(3), (d)—{4)

85. oM § WM ereR R yRae &

Rera 87
A) g8 (B) T
(C) =& (D) SgaR '

(A) 8 @i o1 vl

(B) e o T 4
(C) SiHad orel |

(D) HreT i Wl B

ofy?

(A) arrr (B) St

(C) SR (D) ZyemaTe
%

30 W 1949 @1 gEq YRR e
frer R '

(A) 91, §. 395 (B) IgR  qoeti i

|
Ucd

(C) STarer orret 1gw (D) wey, ), e
== e ___.__,__...-‘




Premder_\t's rule was implemented second
* 0 Rajasthan state in —

1980

(B) 1992
1977

(D) 1967
 whom the Ward Panch, Up- Sarpanch
idress his/her resignation?
\) Sarparich
B) Pradhan, Panchayat Samiti
(C) Block Development Officer
(D) Village Development Officer
Choose the correct descending order of heights
of the following mountains — ,
(A) Taragarh, Khoh, Achalgarh, Ser Peak
(B) Ser Peak, Achalgarh, Khoh, Taragarh
(C) Achalgarh, Khoh, Taragarh, Ser Peak
D) Khoh, Achalgarh, Ser Peak, Taragarh

hich one of the following woman did not go
jail in the freedom struggle?
(A) Kali Bai

(C) Narayani Devi

(B) Anjana Devi
(D) Ratna Shastri

Where is ‘Rajasthan Police Academy’ situated
in Rajasthan?

#

(A) Kota (B) Jodhpur
(C) Jaipur (D) Ajmer
Valaya ornament is worn in -

(A) Neck (B) Hands
(C) Head (D) waist

Which one of the following statements is not
true about Berach river?

A) It originates from Gogunda hills.
B) Gambhiri and Orai are its tributaries.

C) It belongs to Ganga river basin.

)) It meets Banas near Gulabpura (Bhilwara).

1e dialect spoken in Dungarpur and Banswara
ea is known as -

) Malwi

) Marwarl

(B) Wagdi
(D) Mewari

B

8 orem wow ¥ <y AR Ry W o]

79.

5.

Fo.

forar T oy —

(A) 1980 ¥ (B) 1992 ¥

(C) 1977 § (D) 1967 #

SR ¥ 918 U9, SY—WRud fHd et &
ST TG e/ 27

(A) FRUT &t

(B) wur, tarad SRRy

(C) wrvs famr IARHER )
(D)mwm?ﬁ

frefefd @ B TR T v awE
w9 gFe —

(A) RIS, EE, ITHTE, Ay

(B) IR Wi, IETE, Ve, ARTTE

(C) sreelTe, TIE, TRFE, IR fs

(D) WrE, TS, IR 91, TRTre

Tl UM B ARA PrEfiRe 3§ ¥ S
Hfgen Sict T8l TS?

(A) wrel aTs (B) 3isrr <&
(C) ARTIf T/ (D) 7= o=
. Be

(A) BT (B) SiTergR
(C) SR (D) PR
ToTT JATH T W & —

(A) Tt H§ (B) BRIl
(©) RR W (0) TR %

Ry 3 § @ W F 759 T B W
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(B) S | \"Uii Raja IE"JHIHYIHH
(C) S

e
Ll'J
the top two rwem b

N
o
=Ch mbai and Mahi%
(D) Mahi and Banas <
' b
. i List =1l Lo
f’{a ool Mandi (1) Kishangarh E
(b Marble Mandi (2) Bikaner m
qKanpurofRajasthan (3) Bhilwara g
d) Garment City (4) Kota )
il

Code -
(A) a-2, b-1,¢-3,d-4 (B) a-1, b-2, c-3, d-4 E
(C) a-4,b-3,c-2,d-1 (D) a-2, b-1,¢c-4,d-3 <—

87. Which of the following (Cattle fair and Place) igvm 87

N
not correctly matched? b

(A) Mallinath Cattle Fair — Tilwara
(B) Jaswant Cattle Fair - Karauli

(C) Veer Tejaji Cattle Fair — Parbatsar
(D) Gomati Sagar Cattle Fair - Jhalawar
88.  Which of the following is NOT a function of thef:’ S8

Municipal Body?

(A) Poverty alleviation

(B) Public health and sanitation
(C) Excise control

(D) Fire fighting

g

s

15

N
o
(o)

T
-~

-.——-'__-_--__

e ———

Dana 12 nf 1R

W= @1 9 (1665 Ap

o7 ) P
(A) Rrarafl — TS I Safg

(B) Rrareil — Yo AHRYg

(€) Rrarfl — TR

(D) Rraril — WA Wi
muﬁaﬂmmﬁﬁ%ﬁﬁe
(A) ErT (B
©seaR - O
a’fﬁ?ﬁzﬁﬁrﬁﬁi“—

(A) TFTe 3R a9 (B)maeﬁqq@

(©) 7= 3R (D) M ik
Friforf 1 e —

T — | B T f
(a) HT S (1) foarme

(b) HTIOR el (2) dFFR

(c) TR T FHYR (3) Hcwarst

(d). e R (4) P

HT — :

(A) a-2,b-1,c-3,d-4 (B a1, b2,¢3,4
(C) a-4, b-3, c-2, d-1 (D) 32, b-1,¢-4,d3

e 3 % i (o o )
giferT 8 &2

() ey e — e

(B) SI¥Tdc] wgpireny — @l ?
(©) 4R domeh g - T
(D}Tﬁﬂ?ﬁwmtrgﬂﬂ’ﬁﬂ:;ﬁﬂmm
T

& &

(A) Tl fFarRT
(B)mﬁmw@“ﬁé

(C) amaarl AT

(D) aifirerT



R
mh of the following statements is/are
) ect with regard to ratio of women per 1000
ales as per 2011 census in Rajasthan?
7 (i) General gender ratio in all districts remained
| lower to 1000.
() General gender ratio in Rajasthan W
to national average.
(iii) General gender ratio in urban areas
districts (except Dholpur) remained lower
to 1000.
(iv) General gender ratio in rura
districts (except Pali) remained lower to

as lower

of all

| areas of all

89, IMOM W 2011 @ SFTVFT B ITER 3Ry

1000 TOU W AfRes & rqum @ wiay

Preferd § A B w1 due T &/

() wh el A e 1000 9§ g
<@l | |

(mmﬁuﬁﬁm%ﬁn@mﬂq@umﬁ
wH AT |

(i) 0 Rrell # ({HeR o1 o) & wmg
&l T AT ST 1000 ) FH

(iv) T o7t 3 (areht 1 Brea) @ ard o
# o 3ruT 1000 ¥ W )

1000.
Code - e -
(A 1, i, i (B) ii, iii, iv (A) i, ii, iii (B) i, iii, iv
(C) i, ii, i, iv (D) i, ii, iv (C) i, i, iii, iv (D) i, ii, iv
90. Katriyasar is the chief seat of - 90 FHaRanm wqw T E -
(A) Vishnoi sect (B) Dadu Panth (A) ﬁ‘z?ﬂ’s‘ e @1 (B) <75 U @) \
(C) Laldasi sect (D) Jasnathi sect () ;ﬁ’;a”alaﬂh e (D) SRl weEE @
e first conservation reserve for Bear in . 91 IIGIRUIF &I gl Hic], IR & —
jasthan is - E
) Sundha Mata (B) Talchapar (A) gerr =TT (B) SRR
(C) Kanak Sagar (D) Bandh Baretha (C) 1% AR (D) de1 TNt
‘Ranmal Chhand’ was composed by - 92, Jupyer gy @ XEen e @17 g
(A) Hemraj (B) Narpati Nath (A) R (B) =Rufei =1 }
(©) Dalpat (D) Shreedhar () T (D) £y '
Who defeated the giant army of British and .93- 1857 @ sifa ¥ 3w Ud THYR I Dl
Jodhpur state in the Revolution of 18577 ﬁgﬂﬁ‘-@l‘-’l’[ a1 feee awifore famm er?
(A) Thakur Kushal (B) Rawat Keshari (A) BT} @I RiE 3 (B) waw dwaw Rig A
Singh Singh il ST
(C) Tatya Tope (D) Javidayal LR ! N .
94, Which of following is known as Tajmahal of S84 = A fdy AR TS RT
Marwar’? g7
(A) Lalgarh palace (B) Bada Bagh (A) TS HEcl VL LW
©) Jaswant Thada (D) Jagmandir Palace (C) el AT () STHIRY WEw
¥, Where is Gopichand Cave located in Rajasthan? 95, ORI # Mg T el ferd ¥
(8) Ihalagar (B) Mount Abu (A) TS (B) WIST 3,
) Tonk (D) Jaipur (C) eim (D) JAR
13000 1) @oe -~ o
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_36. Wﬂﬁﬁﬁ?ﬁﬁﬁﬂ%%

49 syoft # ST &7
(A) SFTTE (B) TR
(C) WERTTTE (D) ~rEzTg

Wﬁ»‘ﬁﬂ?ﬂﬁﬁﬁmmﬁ?

(A) T T - (B) tReEaTel T
(C) PR T (D) aTeR e
.98, fy=r d O fFFET g A wrereds or?

(A) IRTTG (B) #1119
| (C) @ (D) TR
KDevi — Place)is T/',EIQ. frafofRaa & 9 B9 97 (Erped — "RTH)
£ gofera =18l 87

(A) Brerm <41 — MR

(B) Tferfer wrem — Mo wreig
(C)ﬁﬁﬂmw-m
(D) 3¢ e — MR
- 00 RO o O w1 e s -
(A) 95T gt g
(B) 25 wy ey
(C)WWW
(D)WWW

)PPO A57 - ©bye 2




»t\}w\n re\atlon to “Kachchhi Ghodi” dance?

_hoose the correct code -
;fiﬁ) 2and 3 (B) 3and 4

 (©)1and2 (D) 1and 4

Dadhimati Mata fair is held in which of the
following district?
~ (A) Baran
(C) Sawai madhopur
79. Which (Geographical areas and districts) is not

(B) Nagaur
(D) Dungarpur

_ correctly matched?
- (A) Bhorat Plateau — Chittorgarh and Bhilwara

(B) chhappan’s plain - Banswara and
Pratapgarh

B), Kubad belt — Ajmer and Nagaur

MUbarmal  Plateau - Bhilwara and

Alby the ladies while going to fetch water
from the well

(8) during marriage ceremony

(€) by wife at husband’s death

{P) by females at birth of a son

Dharma stupa in Churu is also known as —
(A) Lal Ghantaghar

(B) Nihaal Tower

(C) Clock tower at Birla temple

(D) Vijay Stambh

The row of seven fire altars (Vedika) has been
found at -

82.

) Ganeshwar
'C)

'._f'i-,",,'jhpa'

(B) Ahar
(D) Bairath

1303273151

1

&

13@32731

_82.

303273151 1303273151

; ,:.:Wh\ch of the following statements is/are true  _#7- “Gedt 9 ge & wed A S/ BN

perT v &7

1. 7% T AfRen gu T E

2. 7 R @ S & W AR
B.W:ﬁmgzﬁwqqﬁa‘mmﬁl
.15 7o ST T 4 I G A

g8 @e IFT —
(A) 23R 3 (B) 33X 4
(€) 13k 2 (D) 1314

aﬁﬂ'cﬁwzﬁrﬁmﬁwqﬂmﬁ!ﬂﬁ
amrfora fran o 27

(A) @i (B) AAFTIR ' 1
(C) warE AER (D) YRR |
%ﬁ%{ﬁaﬂnﬁaﬁw(ﬁrﬁ%tﬁaHaﬁ?ﬁﬁ)
w8 gafera el 87 -

(A) ¥RTE 1 TSR — ﬁlﬁi@ﬂamwﬂm

(B) B &1 HigM — araars] AR TEe

(C) TEs Teel — TR AR MR

(D) SURAE @1 TSR — Hierdrst AR FieTe

1
!

Ser) i i e e & - s,
(A) HiRail GRT @Y W U o S
(B) fraTg WMRIE @ GRM E‘E
(C) ufy o §eg W I &I -
(D) 32 & o & \9F Al R
qaﬁuﬁﬂqﬁsﬂwﬁiﬁmm%*::
(A) TITeT EeTeR i;
(B) fgrer era”

(C) fav WY I HETER

(D) fasra w1 :

A it Al @ AT T & E -

(B) anee 9
(D) dv1e ¥

(A) oI9aR q
(C) @reham A

e —



